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PC1 vs. PC2: All samples

6-
510D31m_2
LR 1
4-
2-
Condition
75DIm 3 @ 475Dtum
4£D‘Gm_1 @ 510Dtum
475D‘um_2 @ 751Dtuml
01 @ 1069Dtum1l
1069Dtum1 3
iy 106 ‘uml_l
1069D‘um1_2
751Dwm1_2
751Dm1_3
41 751Dym1_1
-10 -5 0 5
PC1 (62.6%)
0.10- ‘ H H
0.05 - |
0.00 - [ ]! 11 || | |
-0.05 - H “
-0.10-
_0'15- T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
= —_ o = 0 o o (O] o < o o = O
s 23 FEo88F5 2587282282280 22858538
s & o T 4 S I3 ~ 2 ° 2 o € 2 <
S Tl % = O = b5 CIJ < o O
° X %X D 3 2 a ? 0
=4 CID g | [a) o <
= To) E s (@) <
[a) Lo

DHAP -
Ac—-carnitine -
Ac—choline -
Mal -

CoA -

Cys -

Cit

R5P -
5M-adenosine -
ADP -

Choline A

dC A

GMP -+

Met -
Dihydroorotate -~
Uric Acid +
GlcNAC -
Xanthine -

Asp -

UDP -~
CDP-choline -
Uracil -
5-Oxoproline -
Glu -

P-Ser -
Homocysteine -
dA A

Ser -

2-HG -

Glc -

0.1 0.2
Loadings PC2




